Linear Algebra
Lesson 21
Eigenvalues and Characteristic Polynomials

Be sure to put your notes and homework in a document:

MAT313F21-lesson21-lastname-firstname
If you have a question email me with QUESTION in the subject line.

Watch the Playlist 313F20-Lesson21 pausing to do classwork and homework.


https://www.youtube.com/playlist?list=PLRHpZu30FKOWu6yaQ_yuNgB4HoIUY2seH
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SEE BEEZER: A FIRST COURSE IN LINEAR ALGEBRA 381

Example ESMS4 Eigenvalues, symmetric matrix of size 4
Consider the matrix
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SEE BEEZER: A FIRST COURSE IN LINEAR ALGEBRA 381
Example ESMS4 Eigenvalues, symmetric matrix of size 4

Consider the matrix
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SEE BEEZER: A FIRST COURSE IN LINEAR ALGEBRA 381

Example ESMS4 Eigenvalues, symmetric matrix of size 4
Consider the matrix
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Example ESMS4 Eigenvalues, symmetric matrix of size 4
Consider the matrix
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Example ESMS4 Eigenvalues, symmetri trix of size 4
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Example ESMS4 Eigenvalues, symmetric matrix of size 4
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Show all work when taking the det as | do in the classwork to complete your HW and check your
answers as taught in HW1.
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Read Beezer Preliminaries on Complex numbers and then practice at IXL if you did not
do this before or need a review.

See a nice youtube video on this topic: https://youtu.be/iS8FukKfMKCI


http://linear.ups.edu/fcla/chapter-P.html
https://www.ixl.com/math/algebra-2/add-subtract-multiply-and-divide-complex-numbers
https://youtu.be/i8FukKfMKCI
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Before you submit your work: Please check all your eigenvectors are not the 0 vector and
multiply them by their matrix as in HW1 to check that they match their eigenvalue. If
anything is not working email me with QUESTION in the subject line.

If your eigenvector is the zero vector, then this means either an error in row reduction or
that you found the wrong eigenvalue. A common mistake when finding eigenvalues is

forgetting parentheses:
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After you submit, continue to the next lesson. Do not await feedback! You have
checked yourself.

Note that | expect to see these checks completed.



